Maths 20.1.21
Multiplying two digits by 1 digit.
You don’t have to do all of these. If you need to contact me, my email address is: AZaffar-Thompson@charing.kent.sch.uk
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Find the answers below.
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Now try the challenge
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One-Digit Numbers

1. 2 2. 22 3. 18 4 26
x 4 x5 x5 x 3
5. 12 6. 48 7. 41 8 31
x5 x 2 x 9 x 7
9. 44 0. 32 11 62 12, 66
x 7 x 7 x 3 x 4
3. 82 14 87 15 94 16, 53
x 4 x 8 x 8 x 8
7. 8 8. 75 19. 68 20 718
x &4 x 3 x 6 x 7
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Multiplying Two-Digit Numbers by

One-Digit Numbers Answers
L% 2 o2 3 o1 4 2
4 « 5 <5 3
% Tio % 78
s 12 e 4 7w 8 3
o an oo <7
o % 36 757

9. 4 100 32 1L 62 12 66

308 224 186 264

3. 82 1 8 15 9% 16 53
x4 x 8 x8 x8
328 6% 752 w24

17. 85 18 75 19 68 20. 78
x4 x 3 x 6 x 7
340 225 %08 546
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Calculate the missing digits in these calculations.

1. 2.

3.

2

10.
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